
Name: 

1. Emma has 5 pumpkins, and Ethan has 2 pumpkins. 
    How many more pumpkins does Emma have than Ethan?

                                               Answer: _____

2. There are 7 leaves on the ground. A gust of wind blows 2 more leaves down. 
    How many leaves are there in total now?

                                               Answer: _____

3. There are 10 spider webs on the fence. If 3 of them get blown away by 
     the wind, how many spider webs are left?

                                               Answer: _____

4. Mia collected 8 acorns, while Liam collected 6 acorns. 
    How many acorns do they have together?

                                               Answer: _____

5. Olivia has 9 pieces of candy corn, and she wants to share them equally 
    among her 3 friends. 
    How many pieces of candy corn will each friend get?

                                               Answer: _____

6. Lucas gathered 5 carrots from his garden, Lily gathered 3 carrots, and 
    Noah gathered 2 carrots. 
    How many carrots did they collect in total?

                                               Answer: _____

Fall Math Word Problems within 10



Name: 

1. Ava collected 6 red leaves and 4 yellow leaves. 
    How many leaves did she collect in total?

                                               Answer: _____

2. The scarecrow lost 1 of its 4 hats during a windy day. 
     How many hats does the scarecrow have now?

                                               Answer: _____

3.  Lucas gathered 5 carrots from his garden, Lily gathered 3 carrots, and 
     Noah gathered 2 carrots. 
     How many carrots did they collect in total?

                                               Answer: _____

4. At the orchard, Ava picked 6 apples, and Liam picked 4 apples. 
    How many apples did they pick together?

                                               Answer: _____

5. Sarah picked 4 apples from the tree, and her friend Mark picked 3 apples. 
    How many apples did they pick together?

                                               Answer: _____

6. Luke has 2 chocolate apples and 5 candy corns. 
    How many fall treats does he have in total?

                                               Answer: _____


